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+12,679

KM=  0+000,000
TS=   12,679 m

KNICK

+12,709

1,500

5,000 %

+12,754

KM=  0+001,500
TS=   12,754 m

KNICK

16,000 m
2,525 %

+13,158

KM=  0+017,500
TS=   13,158 m

KNICK

55,792 m

0,065 %

+13,122

KM=  0+073,292
TS=   13,122 m

KNICK

2,750 m

3,018 %

+13,039

KM=  0+076,042
TS=   13,039 m

KNICK
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+13,600

KM=  0+000,000
TS=   13,600 m

KNICK

68,693 m

0,817 %

+13,039

KM=  0+068,693
TS=   13,039 m

KNICK

26,307 m

0,338 %

+12,950

KM=  0+095,000
TS=   12,950 m

KNICK

29,604 m
2,263 %

+13,620

KM=  0+124,604
TS=   13,620 m

KNICK
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